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4. Call the roots r and 3r and use your sum of roots and product of roots formulas:
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5. The slope from the point (-4,3) to the origin is 
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. The slope of the tangent line is the negative reciprocal of this. In Standard Form that gives us 4X – 3Y = C. Plug in the given point and the answer is: 4X – 3Y = -25

6. Draw a circle inside an isosceles triangle with the vertex down. Draw a radius from the center of the circle to the base of the triangle and to the tangent point where the circle and the congruent sides intersect. We then have similar right triangles. Make sure to match up the vertices properly: 
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7. The horizontal is y = 0. The vertical is x = 3. To find the slant, just divide the denominator into the numerator and ignore the remainder. Set this equal to y to get the slant asymptote and you get y = -x. Draw a picture of these three lines and you get:
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8. Draw yourself a picture: If the altitude is 
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, then the sides of the equilateral triangle are 24. Draw a radius from the center to one of the vertices of the triangle and you create a 30-60-90 triangle. 
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 is the radius so double this to get the diameter of: 
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9. Draw a triangle with a line parallel to the base. 
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If the area of the base is 50 then a side of the base is 
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. We can now set of similar triangles: 
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10. Transform the equation into an easier form for answering this question. 2p is the distance from the focus to the directrix

[image: image18.wmf](

)

2

2

4482842832

yyxyx

-+=-++®-=-+



[image: image19.wmf](

)

(

)

2

2844824

yxpp

-=--®=®=


Answers:

0. -8i

1. 
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2.  2160

3.  1045

4.  
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5.  4X – 3Y = -25

6. 
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9.  142

10.  4 
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